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Orientation : Vertical

LetA={-4.-2.-1,0.3,5} and f: A— R be defined by
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f(x)={x?+1for —3<x<3

2x—3 for x¥x<-3

Then the range of 1 1s

A=L4 -2 -1 0 3.5} b fil By R =527 +4] , -3<x<3 8

@0 AEDoT NS 0B, wHVE fags

Y
Options :

C{-11.-7.2.1.8.14}
{H11.5,2.1.8, 14}

, {-11,5.2.1.10. 14}

, {-11,-7.-5.1,10, 14}

1

L3

Question Number : 2 Question Id : 1017174482 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Let IV be the set of all natural numbers. 7 be the set of all integers and o :[1 — Z be
defined by
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Question Number : 4 Question Id : 1017174484 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a. b. c are non zero real numbers and if the equations (a— 1) x=y+z. (b—1)y=z+x.
(c— 1) z=x+y have a non-trivial solution. then ab + be + ca =

a. b, cen HIgEC6 RS Dopgen wHeEr, Bagsdnen (a—Dx=y+z. (b—1)y=z+x.
(c—1)z=x+y SRS FESS §0her0B ab +bc+ca=
Options :
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Orientation : Vertical

If a system of three linear equations in three unknowns. which is in the matrix equation
‘ . " : rankof A |
form of AX =D. is inconsistent. then —— 1s
rank of AD
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Question Number : 6 Question Id : 1017174486 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 cosé 1
If A=|—cos@ 1 cos & | then A lies in the interval
-1 —cos@ 1

1 cose 1
A=|—-cos@ 1 cos@| wond, A &oi woddo
-1 —cos@ 1
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If - is a complex number with |z | = 5. then the least value of 15
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If ezis a non-real root of x” = 1. then o(1+ a]('l+ a’+a
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.r—l x—3

< — holds. for all x in the interval
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Question Number : 12 Question Id : 1017174492 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

; e B8 ; ; ; ;
The harmonic mean of two numbers 1s e and their geometric mean is 2. The quadratic

equation whose roots are twice those numbers. 1s
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If the roots of the equation x° — 7x* + 14x — 8 =0 are in a geometric progression, then the
difference between the largest and the smallest roots 1s
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If a. B. 7 are the roots of x> + px> + gx +7-= 0. then the value of (1 +a’) ('1 + 57 (1 +77)

s

@ fye @ +pd 4 grtr =098 shscwas swepd, (1+a’)(1+f)(1+7)
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Options :
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Orientation : Vertical

The number of different ways of preparing a garland using 6 distinct white roses and
5 distinct red roses such that no two red roses come together, 1s
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Question Number : 16 Question Id : 1017174496 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

There are 10 intermediate stations on a railway line between two particular stations. The
number of ways that a train can be made to stop at 3 of these intermediate stations so that
no two of these halting stations are consecutive. is
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Orientation : Vertical

The coefficient of x” in the expansion of (1+ O+ (1+ I-}zz b1 1_}31:: 1s
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If x= + ... to infinte terms. then 9.«:2 +24x =

18 _1:8:5 . 1:8:5-7 , -
1‘2% + + +... w508 Hre H08 wowd, 9x-+24x =
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If tan o and tan B are the roots of the equation x’+px+¢=0. then the value of

sinz{c::: +,8}+pc05(a+ﬁ)5hl(a+ﬁ)+qc052[a+ﬁ_} 15
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1 +¢os10° +c0s20° + cos30° =
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4 c0s5° cos10® cosl5®
4 ¢cos10° cos20” cos30°

4 sins° sinl0° sinls°

4 4 sin10° sin20° sin30°
Question Number : 23 Question Id : 1017174503 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The number of solutions of the trigonometric equation 1+cosx-cosSx=sin"x 1n
[0, 27] 1s

[0, 271] &5° |@&F*andod HEG=o 1+ cosx-cosS5y = sin x D08, FEse Hopg
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If cot(Cos™ x| = sec Jl’Tan_l

L \‘} b>a. thenx=
Vb* —a’ J
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Question Number : 25 Question Id : 1017174505 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 26 Question Id : 1017174506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC if 6 is any angle. tllen'bcos[ C+6)+ccos(B-0)=

AABC&* 0 23 $00 wond, IEJCDS[C-FQ-]—!{’{ZDS[B—Q]:
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Question Number : 27 Question Id : 1017174507 Display Question Number : Yes Single Line Question Option : No Option
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In A ABC.if hcos@ = ¢ —a. (where 6 is an acute angle). then(c —a)tanf =

6 ©50800 @tmr‘-ﬁs’):csa A ABC ¢5* bhcos8=c—a wond, '[c—n_ltanﬁ':
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Question Number : 28 Question Id : 1017174508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a. . yare the lengths of the tangents from the vertices of a triangle to its in-circle. then

2§ @gha 3070 $H08 o' wods JE:O8 o NHGPPe FEJen a. B. y w008, WIYED
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Options :
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5
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The triad (x. y. z) of real numbers such that

(37 —J +2k)=(27 +37 =k )x+(7 =27 +2k )y +(-27 + j -2k )z is

.3?—_'752? — (27 +37 —k)x+(7 =27 2k ) v+ (2T + 7 -2k )z. wcdhetnod 53
J J J ! J B =

Dogrg@so (x,y.z)
Options :
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Question Number : 30 Question Id : 1017174510 Display Question Number : Yes Single Line Question Option : No Option
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In A ABC. L. M. N are points on BC. CA. AB respectively. dividing them in the ratio

[AL + BM + CN
K]

1:2. 2:3. 3:5. If the point K divides AB in the ratio 5:3. then

AABC &, L, M. N e 36dn BC, CA, AB o e Hodhden 5Hdosn e Hodd
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Question Number : 31 Question Id : 1017174511 Display Question Number : Yes Single Line Question Option : No Option

37 .then the

Orientation : Vertical
is parallel to the line of intersection of the plane determined by the

If a non-zero vector @
vectors } k.3j — 2k and the plane determined by the vectors 27 + 37.1—

angle between the vectors @ and 7 + j+k1s

j—k.3] -2k 56303 830868 Sedn $H80%0 20+ 3j.1 —3] 56308 JP30S0ES
8, d6Fen g Hdosw
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5
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Question Number : 32 Question Id : 1017174512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
If @. b and ¢ are non-zero vectors such that @ and 5 are not perpendicular to each other

then the vector 7 which is perpendicular to @ and satisfying 7 x5 =¢ x b is

) j{jmo’o 2308 HEFen 5H0T G oh ﬁ § exomom

173386 364900 T. b . T 05 @, ho
S0t Fxb=Cxb O £HH08 56 F
Options

(bxc)xa

L a-b

b x(axc)
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ac



(@xb)xe

g, Gl

Question Number : 33 Question Id : 1017174513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the volume of the tetrahedron formed by the coterminous edges @. » and € is 4. then the

volume of the parallelopiped formed by the coterminous edges @ xb. b x & and € x @ is

. 5. T o SFST8 womHenm o SSHEd 25505700 4 wond axb. bxT.
T XA 05 dTSTIE woHeni™ Ko H3T0SE HoE0 W30S0
Options :

, 144

, 16

; 48

576

Question Number : 34 Question Id : 1017174514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the points having the position vectors 37 —27 —k. 27 +3j —4k.—i + j +2k and

47 +57 + Ak are coplanar. then A=

3 —2j—k.2i +3]—4k.—1 + j+2k 50050 4 +5] + Ak S5dn500rm o H0GHO
Hefdoiren wond, wdHvd A=

Options :

1 —8
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[
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The variance of the following data is
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Question Number : 36 Question Id : 1017174516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o =0 and the mean deviation of the observations {ke}. for k=1, 2. .... 50 about its
median 1s 50. then |a| =

a =0 v3sr HoReden {ka}, k=1, 2. ... 50 © B SH¢gHgo $r0d Soggd oo
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Question Number : 37 Question Id : 1017174517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If three numbers are drawn at random successively without replacement from a set
S={1.2..... 10}. then the probability that the mmimum of the chosen numbers is 3 or their

maximumis 7. 1s

8D @08 80 & Vodsor® B8 S= {1, 2, ..., 10} Sod dSrdynsorr .8 T

el
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Question Number : 38 Question Id : 1017174518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bag P contains 5 white marbles and 3 black marbles. Four marbles are drawn at random
from P and are put in an empty bag Q. If a marble drawn at random from Q 1is found to be
black. then the probability that all the three black marbles in P are transfered to the bag Q.

15

2.8 Hod) Pe* 5 8ef*den, 3 Soff 9w wanon. P Hod olrdydson ooubh Foen &%
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Given below 1s the distribution of a random variable X
X=x 1 2 3 | 4
PX=x) A 22 34 42

Ho=P(X<3)andp=P(X>2).thenao:p=

]

2.8 oSrying Joo3 X @BnE), dgrado Brhad adgadod.
X=x 1 2 3 4
P(X=x) A 24 A 44

a=P(X<3)008050 =P (X>2)wond, a:p=
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N . S — i . '
If the mean and variance of a binomial variate X are —, 5 respectively. then P(X=2)=
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DX X o x, and g. vy v, .. Yy are two arithmetic progressions with common differences
a and b respectively. If e and g are the arithmetic means of x,. x,. ... x, and y,. v,. ... ¥
respectively, then the locus of P (e ) 1s

f

DXy Xy s X, SOBOS0 G, Vis Voo oo Y @0 SEOBT a, bHT0S0me0m i 80 wospEen.

s Xge wens X, 0DO5D Yy, Vs, ol ¥, © @08 S0EGATEN wod, Hohd)

o B en S6dm x;. x,

P(a. B) &oth H&o
Options :

L a(x=p)=p(ry-q)
plx—a)=q(y-p)

]

_alx-p)=b(y—q)
, blx=p)=aly—q)

Question Number : 42 Question Id : 1017174522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The point to which the origin is to be shified to remove the first degree terms from the

equation 2x” + 4xy —6y> + 2x+8y+1=0 is

ot B 2 2 Eo . af O v o
D860 2xT +4xy— 61"+ 2x+8y+1=0 550 T3 S8i8 Hrredy endo ToH@ s
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The incentre of the triangle formed by the straight lines y =~/3x. y = —/3x and y =3 is

y=+3x, y=—3x, y=3 do¢dpest A6\ @ehed) woLsSoo

Options :

(1.2)
, 0.2
3, (2. 1)
, (2.0)

Question Number : 44 Question Id : 1017174524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The set of all values of “a” such that both the points (1. 2) and (3. 4) lie on the same side of
the line 3x— 5y +a=0

(1.2). (3. 4) »3 HodHen Sodr H5¢0n 3x—5y+a=08 2335 oBdodsy ‘a’ BnE),

= By
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Question Number : 45 Question Id : 1017174525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points on the straight line 3x — 4y + 1 =0 which are at a distance of 5 units from the
point (3. 2) are

3x—4y+1=035¢0p7, (3. 2) DotHY S08 5 0Brde) BrdSne* e HodHen

:

Options :
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Question Number : 46 Question Id : 1017174526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the pair of lines through the point (2. 1) and perpendicular to the pair of
lines 4xy +2x + 6y +3=01s

(2. 1) Doty thom Fér, 4xy + 2x + 6y + 3 = 0 &3 By 05008 wowon o
By s, HanEdasn

Options :

xy+x+2y—6=0
L

xy—x+2y—-2=0
+tx—2y-2=0

Xy =x—2y+2=0
4

Question Number : 47 Question Id : 1017174527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the pair of lines x* — 16pxy —y* =0 and x” — 16gxy'—1 = 0 are such that each pair bisects
the angle between the other pair. then pg =

% — 16 pxy — 1> =0 500050 x* — 16 gxy — 17 = 0 05 o J6Ede» oo Snes® (58

28 08 2d Dy e 530 Dagodsd Bdod, vy pg=

Options :
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Question Number : 48 Question Id : 1017174528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The figure formed by the pairs of lines 6x” + 1333+ 6y =0 and
6x2+ 13xy+ 617+ 10x + 10y +4=0. is a

6x” + 13xy + 63” = 0 500050 6x” + 13xp + 63° + 10x + 10y + 4 =0 o3 dgr cSoormyeD
DOV D0 28
Options :

Square

SE6H0

Rhombus

Eﬁf)&ﬁeﬁ;d}z‘)ao

Rectangle
Hg BSH60o

Parallelogram
A0S E LI Cﬁ&;‘j&l{]

Question Number : 49 Question Id : 1017174529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A circle having centre at the origin passes through the three vertices of an equilateral triangle
the length of its median being 9 units. Then the equation of that circle is

Sore Loty $5¢ Sosndy EDAS a8 S)do, HEgHLty @Y 9 ohrdiym fo a8
Jdoerdn (@ehad Sordd e hom FE0d. & S)F HEEE0

Options :

2 ¥
P +y7=18

, X +y* =8l



Question Number : 50 Question Id : 1017174530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a circle with radius 2.5 units. passes through the points (2. 3) and (5. 7). then its centre 1s

g g 500 2.5 oordtn AOAS e NS (2, 3), (5. 7) dodhHe or hod,

=2
Lt

0 80|80

5

Options :

, (7.10)
(1:5.2)
)

(3.5.

N

Question Number : 51 Question Id : 1017174531 Display Question Number : Yes Single Line Question Option : No Option
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If 2ix + 3y —1=0. 2x + vy + 5 =0 are conjugate lines with respect to the circle
2 +32—2x—4y—4=0.thenk=
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If the point of intersection of the tangents drawn at the points where the line Sx+y+1=0
- 2 =i :
cuts the circle x™+7y"—2x—6y—8=01s (¢. b). then Sa + b=
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The angle between the two circles. each passing through the centre of the other. is
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The equation of the circle whose diameter 1s the common chord of the circles
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The equation of the parabola whose axis 1s parallel to the X-axis and which passes through
the points (2. 1) (1. 2) (-1. 3) 18
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The tangents to the parabola 1* = 4ax from an external point P make angles 6, and 6, with
the axis of the parabola. such that tan 6, +tan 6, =5 where b is constant. Then P lies on

L

6, Sodan B, Feoren BT, w8 G038 b §, tan B +tan B, = b wabgénanon. whyd P

oy ) €000

2 s o g ;
D0TSO080 y° =4ax § w8 ey Doy P Sood AdS E’:wéﬁgpu, DoCH0D wios

Options :

l,. -

[

vy = bx
y=x+b
X
“h
yv+x=b

4. -

Question Number : 57 Question Id : 1017174537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



7 ¥
, . X . :
The lines y=2x++/76 and 2y+x =28 touch the ellipse 16 + E =1. If the point of
mtersection of these two lines lie on a circle. whose centre coimncides with the centre of

that ellipse, then the equation of that circle 1s
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The angle between the tangents drawn from the point (1. 2) to the ellipse 3x* +2)° =5 is
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The circumcentre of the triangle formed by the points (1. 2. 3): (3. —1. 5): (4. 0. =3) 1s
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A ABC 1s formed by A (1. 8. 4). B (0. —11. 4) and C (2. —3. 1). If D 1s the foot of the
perpendicular from A to BC., then the coordinates of D are
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Orientation : Vertical

The equation of the plane through (4. 4. 0) and perpendicular to the planes 2x+y+2z+3=0
and 3x+3y+2z—8=01s
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If f: R— Ris defined by
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A container is in the shape of an inverted cone. Its height is 6m and radius 1s 4m at the top.
If it is filled with water at the rate of 3m>/min. then the rate of change of height of water
(in mt/min) when the water level is 3m. 1s
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If a cylindrical vessel of given volume V with no lid on the top 1s to be made from a sheet
of metal. then the radius () and height () of the vessel so that the metal sheet used 1s
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The area (in sq.units) enclosed between the curves v=x~and y= x| is
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The differential equation corresponding to the family of circles in the plane touching the
Y-axis at the origin. is
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The solution of the equation [:r - 4.1-'3 ]d—1 —y=0,(y>0) is
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Question Number : 81 Question Id : 1017174561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the determination of the internal resistance of a cell with a potentiometer. the error in
the measurement of the balancing length is + 1 mm. When the cell alone is connected in
the circuit. the balancing length is obtained at 60 cm and when the cell 1s shunted with a
resistance of 100 +2%. the balancing length is obtained at 50 c¢cm. The error in the
determination of the internal resistance of the cell 1s
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Question Number : 82 Question Id : 1017174562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bird is tossing (flying to and pro) between two cars moving towards each other on a
straight road. One car has speed of 54 kmh! while the other has the speed of 36 kmh1.
The bird starts moving from first car towards the other and 1s moving with the speed of
36 kmh~! when the two cars were separated by 36 km. The total distance covered by the
bird before the cars meet each other is
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A body is projected from the top of a tower with a velocity T = 31 + 4] +5kms™!. where

i J and k are unit vectors along east. north and vertically upwards respectively. If the

height of the tower is 30 m. horizontal range of the body on the ground is (g= 10 ms™)
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Equation of a projectile 1s given by y=PX — Qx” where P. Q are constants. The ratio of
maximum height to Range of the projectile 1s
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A person of 60 Kg mass 1s in a lift which is coming down such that the man exerts a force
of 150 N on the floor of the lift. Then the acceleration of the lift 1s (g = 10 ms—2)
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The situations are shown in fig (a) & (b). in each case. m; =3kgand m, =4 kg. If ay. a, are
the respective accelerations of the blocks m these situations. then the values of a; and a,
are respectively [ g=10ms—=2 ]
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A girl of mass 50 kg is swinging on a cradle. If she moves with a velocity of 2 ms—!
upwards in a direction making an angle 60° with the vertical. then the power generated 1s
(2=9.8 ms—2)
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Two blocks of masses “M™ and ‘m’ are placed on one another on a smooth horizontal surface
as shown 1in the figure. The force ‘F’ is acting on the mass ‘M’ horizontally during time
interval ‘t’. Assuming no relative sliding between the blocks. the work done by friction on
the blocks 1s
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A uniform thin rod of 120 cm length and 1600 g mass is bent as shown in the figure. The
moment of inertia of the bent rod about an axis passing through the point ‘O” and
perpendicular to the plane of the paper is kg m-.
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A solid sphere is projected up along an inclined plane of inclination 30° with the horizontal
with a speed of 4 ms~1. If it rolls without slipping. the maximum distance traversed by it is
(g=10ms2)

o8 WIFTeR) 88208 30° S0 TN Tew doo Jowd Bod Sod 28 4ms l 588

O8N0 Vo, & Fdo ardom G708, &b HPArBodd Ko drdo

Options :

—_

A

3;

4.

1.12.m
224 m
112 m

224 m

Question Number : 91 Question Id : 1017174571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Time period of a sumple pendulum of length ‘L’ is T;. Time period of a uniform rod of same

length ‘L’ suspended from one end and oscillating in a vertical plane is T,. Amplitude of
iy a1 ; '
oscillation 1s small in both cases. Then. T. 18
2

i

L 6 o odndoisin Sosss sodn T w08 >dl L Ko 2568 §4J 8 &S

$00&. 882 voadodnd” WIHT FCELRSYE 8¢ FPoardgs stodn Th Bodo
T].

?3065-:?‘;»‘.’.)@ E0dS DO oo, Bwod T_"; Dend
Options :
4
L V3
2, 1
3
V2
2
V3

Question Number : 92 Question Id : 1017174572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies of masses 4 m and 9 m are seperated by a distance “r’. The gravitational potential
at a point on this line joining them where the gravitational field becomes zero 1s
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The ratios of lengths. areas of cross section and Young's modulii of steel to that of brass
wires shown in the figure are a. b. ¢ respectively. The ratio of mcrease in the lengths of
brass to that of steel wires 1s [Assume that the masses of Steel and Brass wires are negligible]
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Fully filled open water tank has two holes on either sides of its walls. One 1s a square hole
of side x cm at a depth of 2 m from the top, and the other hole is equilateral triangle of side
4 cmat a depth of 6 m from the top. If the rate of flow of water is same from both the holes.
then *X’ is
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Three uniform thin aluminum rods each of length 2 m form an equilateral triangle PQR as
shown in the figure. The mid point of the rod PQ is at the origin of the coordinate system.
If the temperature of the system of rods increases by 50 °C, the increase in y-coordimate of
the centre of mass of the system of the rods 1s min.

(Coefficient of volume expansion of aluminium = '12\/5 %10 K)
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Question Number : 96 Question Id : 1017174576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A wall is made of equally thick layers ‘P” and *Q’ of different materials. Thermal conductivity
of Q" 15 half of that of the *P". In the steady state. if the temperature difference across the
wall 1s 24 °C, then the temperature difference across the layer ‘P’ is

3% 3 STTod Vs Jdord Doodidn EOAN Todo Fden P’ Huddin ‘Q’ o’ ¥ /d
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Question Number : 97 Question Id : 1017174577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One mole of a gas expands such that its volume “V’ changes with absolute temperature *T"
in accordance with the relation V=KT2 where K is a constant. If the temperature of the
gas changes by 60 °C. then work done by the gas (R is universal gas constant)

2.8 Ird a0y Fig ATCRY: l“’ngjifo G5 DINBBDrese V. Hed ﬁsﬁ;@u T &
V = KT2 605500y 08008 Srdbis. age K poos. oind s 60 °C
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Question Number : 98 Question Id : 1017174578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A monoatomic ideal gas goes through a cyclic process as shown in the figure. The efficiency
of this process 1s
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Question Number : 99 Question Id : 1017174579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the average translational kinetic energy of a molecule in a gas 1s equal to the kinetic
energy of an electron accelerating from rest through 10 volt, then the temperature of the
gas molecule is (Boltzmann constant = 1.38 » 10-23 JK-1)

w8 oy B, el Dl FTod K8=vE, 10 volt © @ o 8 Hood
HosBEyBo Tod JOES H82¥88 JSrdo vond & T wmd S
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Question Number : 100 Question Id : 1017174580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The transverse displacement of a string of a linear density 0.01 kg m-1. clamped at its ends
2
is given by Y o =0.03 5111( ;[‘i JCDS(GOM ) where X and y are in metres and time ‘t’ is

in seconds. Tension in the string is
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Question Number : 101 Question Id : 1017174581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A closed organ pipe of length ‘L’ and an open organ pipe contain gases of densities p; and
p, respectively. The compressibility of gases are equal in both the pipes. If the frequencies
of their first overtones are same. then the length of the open organ pipe 1s

L &6 fo Sord ¢d) sTre MLk Sobdiw .8 BEAS uord Mhsne Sod SSSm
P 500050 Py roEden Ko ToinPHe G, Told Mired™ srabuden e Dowdsd
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Question Number : 102 Question Id : 1017174582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two pomt sources Sy and S, are 24 cm apart. Where should a convex lens of focal length
9 cm be placed in between them so that the images of both sources are formed at the same

place ?

S1. Sy Dot 5708 25570 &R ood w88 24 cm drdod” wanon. 9 am Jrargod i
Ho 8097578 §LEINH T8 g 8.8 wodS S1, §; o BeQoeren o8 Vo I
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Options :
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Question Number : 103 Question Id : 1017174583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two slits separated by 0.5 mm are illuminated by light of wavelength 500 nm. The screen is
at a distance of 120 cm from the slits. The phase difference between the interfering waves
at a point 3 mm on the screen from the central bright fringe is

0.5 mm Sogiy drdorie Bod DO¥es 500 nm $0hBdgo Ho 57088 @BhJo D,
D080 H0d 88 120 cm Erdod’ Sodh. o Jenid H Sood 8 ¢ 3 mm Erdos”
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Question Number : 104 Question Id : 1017174584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The uniform electric field mtensity between the two plates of a parallel plate capacitor is
1 % 103 Vm= acting vertically upwards as shown in the figure. The plates are sufficiently
long and have separation 2 cim. A particle of negative charge 1 uC and mass 2 g is projected
at an angle 45° with the electric field from the lower plate with a velocity ‘u’. The maximum
velocity acquired by the particle if it is not hit the upper plate is

2.8 DSrods Hose TFLE D), Tok Il Hgy 868 DS FY 8BS 1 x 103
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Question Number : 105 Question Id : 1017174585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An infinitely long thin straight wire has uniform linear charge density of — Cm™. Then the
o)

magnitude of the force acting on a charge 3uC situated at a pomt of 18 cm away from the

wire is =9x10° Nm*C ™
dn e,

Cm L &% $Ho0d 18 cm
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Question Number : 106 Question Id : 1017174586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a steady state. a capacitor of capacity 2 uF is charged to 4 uC. as shown in figure. If the
internal resistance of the Cell is 0.5 €, then the emf of the Cell is

HeaS00e5® Bt Bdnm deld -?:_g &e5° 2 UF 3rodsd 4 uC 5% e335r0850 00858,
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Question Number : 107 Question Id : 1017174587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An electrostatic paint sprayer has a metal sphere of diameter 18 cm and at a potential of
25 kV. If it sprays paint droplets, the charge on the metal sphere 1s

"

28 R Dogd Ford (OyoNé 18 cm orgddn do TP Ae) §8 Job Hiosw TR
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Question Number : 108 Question Id : 1017174588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When the terminals of a cell are connected by a wire of resistance 4 €. the potential
difference across the cell is 1.6 V. If a wire of the same resistance 1s connected in parallel

with the first. the potential difference becomes 1.33 V. The emf and internal resistance of
the cell are respectively

4 Q 380 o &i& frtoo SoE), Bok Do EOLIHE T FBIcHLS Bdo 1.6 V.
& DS SR, «o8 VG800 Ko 20688 & Sdroddom 5@:&?6&.3@3 es Hodso @bﬁﬁ}wm
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Question Number : 109 Question Id : 1017174589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T , : - R,R.
If the charge on the capacitor is 1 mC in the given circuit. then ——2 = €.

De0e5* Irad S0t Srhtd » e eHdo 1 mC wond L= Q.
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Question Number : 110 Question Id : 1017174590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two concentric coils of 20 turns each are placed in same plane. Their radii are 30 cm and
60 cm and carry 0.4 A and 0.6 A currents respectively in opposite directions. The magnetic
induction at the centre in tesla is
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Question Number : 111 Question Id : 1017174591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two long parallel conducting wires carrying currents are seperated by a distance “x’. Work
done per unit length in changing the distance between the wires 1s proportional to

Vg RardTfods EOAYHN) Totk FPEIS Sdr0d8 T8 afe Sogg Grddw X, & SN
Dy Sror) SrdbBy P PEIIL 22008 20 & Bod T8 NS IrHTFESnS’
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Question Number : 112 Question Id : 1017174592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following

List-1 List-1I
a)  High Retentivity i)  Telephone diaphram
b)  Highresistivity i1) Diamagnet
c) Low coercivity 111) To decrease eddy current losses
d)  Negative susceptibility iv) Permanent magnet
808 T 28HBHB0
arfer -1 arde - 11
Q) o8 Fdwiud 1) BOPFI dodraoen
b) w88 J58558 11) &> eodidm oo
¢) ooy JFTE iii) ¢ Pord Sod Shouas
d) ae SEE IV) F4d echarodo

The correct answer 1s

2BGH HAFETHB0

Options :

| a-i, b-id, c-iid. d-iv

, a-1v. b-111. ¢-1. d-11

; a-1. b-1v, c-11i. d-ii

4

| a-iv. b-ii. c-1, d-iii

Question Number : 113 Question Id : 1017174593 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Assertion (A):
Reason (R) :

It 1s more difficult to push a magnet into a coil with more number of turns.

The emf induced in a coil opposes the motion of a magnet when it is moved
towards the coil.
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Options :
Both A and R are true. R 1s correct explanation of A.

A Ren d8g50. R, A Bw¥), $85 258e.

Both A and R are true. R is not correct explanation of A
A R en B850, R, A Bwg) 838 D580 5.

A 1s true. R 1s false

ARdgdn, R eddghn

A 1s false. R 1s true

A eddgdn, R S8g050

Question Number : 114 Question Id : 1017174594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a coil is connected to AC supply of frequency 50 Hz. a current of 4 A flows in 1t and
it consumes 240 W power. If the potential difference across the coil 1s 100 V. then the
inductance value of the coil 1s

w8 84 D 50 Hz 23:dghn o AC S6Ho8 Sendls Sol, 84 Sody o 4 A
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The amplitude of electric field in an electromagnetic wave is 60 V™. Then the amplitude
of magnetic field is

28 DEgEoA, 08 SColo Soi DEYE TS 107 eod 60 V! wond echamod 3¢
HBR Deod
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Question Number : 116 Question Id : 1017174596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Both an electron and a photon have same de-Broglie wavelength of 1.2 A. The ratio of
their energies 1s nearly

X )
Options
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7 1:10
, 1:100
, 1:1000

Question Number : 117 Question Id : 1017174597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of orbit of an electron and the speed of electron in the ground state of hydrogen
atom are 5.5 ¥ 10-11 m and 4 » 106 ms-1 respectively. Then the orbital period of this
electron in the first excited state will be

.ﬁﬂ@“ﬁ Bgg 3008, &rgrgo 080tn PrIFTR DUNT0) BwY), drond’ Jﬂ:@jﬁ S5&
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_ 9.608 x 10-165
, 8.9068 x 10165

, 7.806 x 10-16 s
, 6.908 x 10-16s

Question Number : 118 Question Id : 1017174598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The half life of a stream of radioactive particles moving along a straight path with a constant
kanetic energy of 4 eV 1s 1 minute. The percentage of particles which decay before travelling
a distance of 3.6 km is ;

(Mass of the radioactive particles = 3.2 » 1021 kg and charge of the electron=1.6 » 1019 C)
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Question Number : 119 Question Id : 1017174599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A zener diode voltage regulator operated in the range 120 - 180 V produces a constant
supply of 110 V and 250 mA to the load. If the maximum current is equally shared between
the load and the zener diode. then the values of load resistance (Ry ) and series resistance
(Rg) are respectively

255 &ArE L8 Joho@esed 120-180 V orgaes® o2689, 110V 58cin 250 mA &
RBOMT eEAT TS ayod. A3 oGS RIS erdG G0, BHE dBrE&os SoJSrIom
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Options :
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, RU=280Q.Rg=700Q

Question Number : 120 Question Id : 1017174600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of recovering the modulating signal from the modulated carrier wave is called

SrdogBaS Bohndd T ddotio S0 SrdogBiof $088SI0NI YSLBT BEDH
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Question Number : 121 Question Id : 1017174601 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The energy and radius of electron present in second orbit of He™ respectively are

He™ Dods 88g65° &) ;D‘EJLS;E §§, argargo S&dm

Options :

| —2.18x107'%J, 105.8 pm
—4.36x107°1.52.9 pm

—1.09 % 107'° 7, 105.8 pm
, —8.72x107%% J, 211.6 pm



Question Number : 122 Question Id : 1017174602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The work functions of Ag. Mg. K and Na respectively ineVare 4.3, 3.7. 2.25. 2.30. When
an electromagnetic radiation of wavelength of 300 nm is allowed to fall on these metal
surfaces. the number of metals from which the electrons are ejected 1s :

(1eV=1.6022 =% 10719 )

Ag. Mg K, Nae 5 @shosren eV eos® 6o 4.3,3.7,2.25, 2.30. $dorgg go 300 nm
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Question Number : 123 Question Id : 1017174603 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Na™ and Mg’  ions are isoelectronic but the ionic radius of Na™ is greater

than that of Mg>*
Reason(R):  The effective nuclear charge of Na™ion is less than that of Mg?*ion
dhdo (A):  Na’, Mg™ en 5058 wosrSen. 50, Na* wai»as sgrgdo, Mg

T§go 0B I8y D
560 (R):  Na© wosrS @008 So|68 esddo Mg?" wosrS $08 S80S

Options :
Both (A) and (R) are correct and (R) is correct explanation of (A)

(A) 58050 (R) 0 5860852, 508050 (R) @088 (A) 8 H$063008 D508,
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) $08050 (R) e 3803082, (R). 05086 (A) 8§ 30508 D560 s7.
(A) 1s correct but (R) 1s not correct

(A) 500058 570 (R) H0086 57650,

(A) 15 not correct but (R) 1s correct

(A) B0&6 57 570 (R) HB086.



Question Number : 124 Question Id : 1017174604 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Lewis structure for O; molecule is given below.
The correct formal charges on oxygen atoms labelled 1. 2. 3 are respectively

O3 wend) oo Q070 Bod KSgedod.
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Options :
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Question Number : 125 Question Id : 1017174605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following are having. diamagnetic property?
808 T¢365° ol wohHTY0d (UmyR) EOASD 22?

(@) B, ®) N, (© O, @ G

Options :

. ab
5, BEE
; a.d
4 b.d
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At 27°C in a 10 L flask 4.0 g of an ideal gaseous mixture containing He (molar mass
4.0 gmol™!) and Ne (molar mass 20g mol™!) has a pressure of 1.23 atm. What is the mass%
of neon? (R=0.082 L atm K mol™)

27°C 3¢ 10 L arde® &) 4.0 g esdd) ardsn d@sooss® He (Srerd (8554073
4.0 g mol™), Ne @rers (3555078 20 g mol™!) &didve od Hetdo 1.23 atm ©od
DOSES (555073 TS0 Jo=? (R=0.082 L atm K~ mol™!)

Options :
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Two oxides of a non-metal X contain 50% and 40% of non-metal respectively. If the formula
of the first oxide is XO,. then the formula of second oxide 1s

B0 wS S eg)Bed” wddro X S00dm 50%, 40% 58, 306 w§)d ardyor X0,
©0o0d, DodS wHE e dds?
Options :
| X0,
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Question Number : 128 Question Id : 1017174608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The enthalpy of formation (AfH) of methanol. formaldehyde and water are —239, —116 and
—286 kI mol™ respectively. The enthalpy change for the oxidation of methanol to
formaldehyde and water mn kJ is

WEFS, FomrE, IGe HoZam Jomdyen (AfH) Stidne —239, ~116 Srd05n —286 kI
mol! @onssS SIS 8¥600 Jod FTETE, A fﬁdgé- SEE Dogrdy Sorddy
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Options :

L —136
y =173
3 — 163
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Question Number : 129 Question Id : 1017174609 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1) H3PO4(aq) = H:_(aq} THyPO4(aq)
‘s = 2—
if)  HyPO4ag = H g +HPOL (o)

iii) HPO3 (4 = H'(a9*PO2 (ag)

The equilibrium constants for the above reactions at a certain temperature are K. K, and K,
respectively. The equilibrium constant for the reaction HyPOy,q) = 3H+(aq;, + POi_{aq}

in terms of K,.K, and K, 15

i)  H3PO4(z0) ==H(,.)*H,POq..)
i) H,POR,,,) =H",,tHPO; (..,

iii) HPO3 () = H'(,)*PO} ()

2.8 A0 &PNS 58 7 SOge ddaend porosten 6D K. K, K; wo0dS
bl = £ ] 1 Z 3

H3POy(..) = 3H () + PO1 (.,) 565 5098 Joroso K. K,. Ky d6om Jos?

Options :
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The equilibrium constant (Kc) for the following equilibrium

at 563 K is 100. At equilibrium. the number of moles of SO; in the 10 litre flask is twice
the number of moles of SO,. then the number of moles of oxygen is

363 K 5¢ & 5od Gdgss ddnend poroso (Kc) densd 100.

& G
Eﬁén@‘-‘%é‘a 3¢ 10 @é:ng rges® SOz arde dopg, SO, Frde dopgs o&doHm ﬁeﬁd;’jwr:io;
s§nd Irde Jopy Dod?

Options :
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Question Number : 131 Question Id : 1017174611 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many millilitres of 20 volume H,O, solution is needed to react completely with
500 mL of acidified IN KMnO, solution?

500 20ddbd wansys IN KMnO, @s@w0s Srom <6y 2098 2Q) ddid
20 HodH057r H,0, (@500 29556501807

Options :

| 56
. 140

Question Number : 132 Question Id : 1017174612 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statements is not correct?

800 TS D HOGS ISC §E?

Options :



Alkali metals react with water liberating oxygen gas

sToeTien QS Gdg 20D w§Hmd TolnyH Jdde Hotod

The hydration enthalpies of alkali metal ions decrease down the group
SO S0Irde r@BAS JoTdyen ((rae® §ohs ond BH drbaron
KO, is paramagnetic

KO, &ro° »oharm od GomR) Braoh

Lithium halides are some what Covalent in nature.

6050 fﬁ@&m B0 §58085 QﬁD‘-‘éﬂ’l 500 &odron

Question Number : 133 Question Id : 1017174613 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following reactions. hydrogen 1s liberated ?
(a) ;—’\.l{s}+HC‘1w—>

(b) Al,+NaOH_ ,——

(c) NaBH,+I,——

808 H6g065° TR0 TR Idde wiiHddy?

(@) Alg,+HCl,,,—

(b) Alf?{DJ +NHOH{2::@] —

() NaBH,+I,——

Options :
1 a.c

, a.b
3 b.C

4 ab.c
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Which one of the following statements is not correct?

& §0d T0° DB HOFTS HHG 578?
Options :
In CO molecule. there are one ‘sigma’ (o) and two “FPi” () bonds.

CO 29:205e5° .8 :E’-:-rrlg; (o), Dot 2’ (m) worren §0
o 32 s A
Both [SiFs | and [SiClg] ™ ions are known

[SiFﬁ]z_ S0005» [SiClﬁ]E_ @ Do w03y ©ggShii

In CO, molecule. carbon hybridisation is sp

CO, ®09)e* 576\ H08086=0 Sp

Fullerenes are made by heating graphite in an electric arc i the presence of argon
gas.

B0 05D IHEoe* RS JgunHos® VLS Poiyy SoirdHerown

Question Number : 135 Question Id : 1017174615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following forms holes in the Ozone layer?
8od T LES FES* Coroid IGEDEH I6?
Options :

. SO,

Co,
; CO
CE,Cl,

Question Number : 136 Question Id : 1017174616 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Identify the correct statements from the following

a)
b)

<)

d)

Electromeric effect is a permanent effect
Hyper conjugation is a temporary effect

Fractional distillation is used to separate two liquids from a mixture if the difference
1n their boiling points is less
Different compounds are adsorbed on an adsorbent to different extents

T°¢3e5" HBH DICmesd Hiodod

QOEOE Herdo FTHEISE

wd Jo05nK) PHerSo @e OFDSD

88 @038 206508 &A@, Eﬁam\fjéé LT S S8 S &d) Dok (Bareid
J°¢5 DEFSoo Hood) IHIBJG

S0gh DARFTen wETRS D DE wSdhed® w5500 Bodheron

The correct answer 1s

Kjﬁ@;é RPN LTARPA PR U

Options :

. d
a.b.c
b.d
;. B d

1

2

3

Question Number : 137 Question Id : 1017174617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gaseous products formed at cathode (X) and anode (Y). when an aqueous solution of
sodium acetate 1s electrolysed are

G000 OB 2oErderd) JIGgAEAN0 oSN sF'E (X) Hoot» =IE

(Y) o 3¢ ECSQEE O30 ErSyTen

Options :

C,H, . H, co,

1.

X

=<



X X
&, CEHﬁ ? Hz
X 4
H, C,H,, C0;
3 % #
X b4
, H. €O, C,H,

Question Number : 138 Question Id : 1017174618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements for a ring system to exhibit aromaticity

a)
b)

c)
d)

2.8 D
a)
b)
c)
d)

[t must not be planar

It must possess (4n + 2) « electrons
It must be planar

It must possess 4n w electrons

0% :’355%;:; ES5TEREY HEBOBETIE SSORS
wd dogeor wodordd

wd (4n + 2) nﬁ@gﬁ@é& §9 £ 085D

@l Hdodeor soEd

v 4n 1 JoEFEIVN é@ 085080

The correct answer 1s

ah

Options :

i

"
£-H

3,

b.d

4

a.b
b.c
a.d

HO0N DAFeHD0

HOGHE DI Miodod

Question Number : 139 Question Id : 1017174619 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



An element has a body centered cubic structure with a unit cell edge length of 400 pm.
Atomic mass of an element is 24 g mol™. What is the density of the element?

(N,=6x10*mol™?)

©wodBoBd N IS’ &) w8 Joresdn 0Hrdd w6 o a&rdy 400 pm
Soresd) H8Srm (555073 24 g mol ! wond ma oS Jok? (N,=6x1023 mol 1)
Options :

, 3.60 gcm™
, 1.80 gem™

1.25gem™

, 2.50gem

Question Number : 140 Question Id : 1017174620 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

31 g of ethylene glycol (C,H.O,) is dissolved in 600 g of water. The freezing point
depression of the solution is (K for water is 1.86 K kg mol™)

31 g © 9883 155 (C,HO,) & 600 g 0&e5® sbAoEm bcﬁb}cfgé 5200 HoLIHS c“:;rﬁ
D39S Dok? (D Kpde0s 1.86 K kg mol™)

Options :

310K
, 465K
; 0.77K
., L55K

Question Number : 141 Question Id : 1017174621 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following solutions of compounds show highest osmotic pressure?
(AB. AB> and A,B; are 1onic compounds)

& §0ob ddFore Be @Hred® WhE (EIHN0n HESSL TS GHB?
(AB. AB; 58050 AB3 en w05rds $an¢aren)

Options :



3.0 MAB type 1= 1.6 and temperature is 27°C
| 3-0MAB 685 i=1.6 5006050 evapis 27°C

2.5 MAB, type 1 =2.5 and temperature is 57°C
2.5MAB, 6530 1 =2.5 50050 esapiss 57°C

1.5MA,B; type 1 =4.1 and temperature 1s 27°C
1.5 MA,B; 6830 1 =4.1 308050 esapis 27°C

5.0 M urea 1 = 1.0 and temperature is 67°C
, 3.0 Mosrdosr 1 =1.0500%0 € dfe 67°C

Question Number : 142 Question Id : 1017174622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

20% of a first order reaction was found to be completed at 10 A.M. At 11.30 A.M. on the
same day. 20% of the reaction was found to be remaining. The half life period in minutes of
the reaction 1s

28 PES ESrof Iy eoDo 10 KobrerdHd 20% Hrf @wondin KHAoTRIE. d
6°er poDSN 11 Mot 30 ddre dHc3rds 20% ISr@h FOg D Gy
ADoTGEN0. e Wiy Cloxertily) Qelareres® Qoes?

Options :

. 90
» 60

L
e
N

0

o
a3

Question Number : 143 Question Id : 1017174623 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Same amount of electricity is passed through aqueous solutions of AgNO; and CuSO,,. The
number of Ag and Cu atoms deposited are x and y respectively. The correct relationship
between x and y 15

AgNO, 508050 CuSO, 2o @Sere HOoT 2.8 HOSP0S” gy (HST0H DHSHH
D838 Ag. Cu HESrande Hopg SEDHM X, ¥y ®o0d X, ¥ © g 808 Ddoaodo
Options :

e



) X=2y

=%

Ll

3.

. X5

Question Number : 144 Question Id : 1017174624 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Colloidal solution of gold is in different colours like red. purple. blue and golden
because of

AP Serond @500 ), O, D00, Bordd Coherod I Cohees® &otnos.
68 50800

Options :
Size difference in the particles of gold

A'§ Seore H0Sr0e® B rodirdn

Variable oxidation states of gold

P8 050> efigde Heen &odiHSn
Presence of impurities

OT ) ErodtINw

Difference in the concentration of gold particles
F*G Seore mESe® 8@ oGS0

Question Number : 145 Question Id : 1017174625 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Copper matte contains

500 Sréded® oD
Options :

CuO. C 1125'
i

- CuO. FeS
; Cqu. FeS
) C 11252 FeO

L3
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S+ Conc. HESO4 —3 by

Here X is a gasand Y is a liquid and both are triatomic molecules. The number of electron
lone pairs present on the central atoms of X and Y are respectively.

S+m¢ H,S0, — X+Y
28 ¢ X oro50:y), Y (($550. @ond Sodr @HdSrea wmnden. X. Y o 3ol HEsrande
NG ) 2,000 IOFS ade Howg SEDHT

Options :
21

2,

(]

2

I
— —
=

Question Number : 147 Question Id : 1017174627 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is used in the estimation of carbon monoxide?

§0ob r3eS* BAD 5°R)S IrTGHBH AFooTETIE €HTNNE?
Options :

L0,
BrO

1
3

10,

[

3
4 I’ZOS

Question Number : 148 Question Id : 1017174628 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

To prepare XeF .. Xe and F, are mixed at 573 K and 60-70 bar in the ratio of

XeF 5553%%’;3 Sasrd8, Xe.F, oo 573K, 60-70 erde H¢ o) ANBS® EenHE-o?
Options :

i. 1520
L |
3119

|



Question Number : 149 Question Id : 1017174629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are X and Y m the following reactions ?

§0d S6goes® X. Y en 27

a) MnO,+I —E X

b MnO, 15 5y
Options :

105 %

; J10;
. 105 ;16
5, 510;

e
Question Number : 150 Question Id : 1017174630 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify. from the following. the diamagnetic. tetrahedral complex

Bob et dosr wohay of, BErwrES Holard) MHioSod

Options : )
) | Ni(CN), |
Ni(cn), ]
| Ni(CO
Dico),
ey 3_
Co(C,0
4 = & 4}3]

Question Number : 151 Question Id : 1017174631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is not used as an initiator in 1onic polymerisation?

Bob 77¢3e5° DD woirdE FdHS0E0moeT @rdosffor &H@rhodh?

Options :



AIC]
SnC ]2
NaNH,
3

, (C6HsC0),0,

Question Number : 152 Question Id : 1017174632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the statements which are not correct from the following

a) Carbohydrates are stored as glycogen in animals
O

b) Inglycylalanine. — flil“ — of peptide bond belongs to alanine
c) Base - Sugar - phosphate unit is known as nucleoside

d)  Obesityis due to hypothyroidism

Bod 7365 HOGAD §Q DITedy Hiodod

a) Fﬁia_?@-inm 2ohees” ffa0 SrHost Jexg troérrown
[+ dind
(0]

b) TS Joldws” PG wogo BN, — C— J0I8 TobSH
i o
¢) §00-UG B-ar e ohrdssdy Sorg8drpE wotrdd

d) TrdPoovdazm Jod sestoo §0arH

The correct answer 1s

DS dSrgrdSw
Options :
. a,¢,d

2 a.d



3 b.c
4 b.c.d

Question Number : 153 Question Id : 1017174633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following structure represents the compound. generally added to soaps to
mmpart antiseptic properties?

D3 TGS Fgorpody §OA0TErIE Do Ferdnomr §0w HanFlo §od Tde” O

Q0712080 8O 0tnoh?

Options :
SO EE\THI
1 NH,

cl OH O©OH cl

L2
a
a

Lid
=

Question Number : 154 Question Id : 1017174634 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The drug, which was designed to prevent the interaction of histamine with the receptors
present in the stomach wall 1s :

#¢8'50 R0 fo rirsod® Y 20 S0 oS8 drhseyd TDE Sok



Prontosil

5 @FPIERS

Aspaframe
DD

ek
A

Cimetidine
. DDBRS

Question Number : 155 Question Id : 1017174635 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is more reactive towards Sy’ reaction?

808 T83¢5° D6 Sp? SEgHey whE Sorgsodd HE0N0H?
Options :
, (CH3);CX

(CH;),CHX

, CH,CH,X
4. CHSX

Question Number : 156 Question Id : 1017174636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What is Z in the following sequence of reactions ?

a

C
AN 4 4
CHy ©F LWl
Amyac;, ~ (Major)
1
- Zn-Hg/
X Conc. HC1
Z

cl T

Cl
r In-Hg/
X i HCI
Z
Options :
, = CH,
, —CH,—CH;
-C-Ci
|
3, O
- ﬁ_ CH,
3. O

Question Number : 157 Question Id : 1017174637 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Identify the statement which is not correct?

Bob ¢85 HBGH DG A T HBobok

Options :
Freon 12 1s manufactured by Swarts reaction

| Bosrs 12 5 %) 65 mgo” g DT
CHCI, is stored in closed. dark coloured bottles
CHC; & Sord dareds® Hod) deg owe
Chronic exposure to CHCI, causes liver damage
. CHCL, &° E:g_j?&:oé‘ﬁ-i}n 0 @odNH W B0 rEHSHod

Dehydrobromination of 2-bromopentane gives pent-1-ene as the major product

2553 20T GRrE R 0HE600 I 2085-1-83 HETd eddiom 2\HE 06
4 i | - = Ot

G
a—
Question Number : 158 Question Id : 1017174638 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The increasing order of acidity of the following carboxvlic acids 1s

Bod 5008108 esdre, sgto A B0

COOH COOH COOH COOH
NO, OCH, CH;
(a) (b) (c) (d)

Options :
, AKX bhedLe
€ Xd=md<xh

segd=sh=4g

s b<c<d<a

Question Number : 159 Question Id : 1017174639 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What are X and Y in the following reactions?

§od zﬁ{ﬁfg@tﬁ’s XX oDy

0 X e |
CH0— g ao >CH;(CH, ), CH,0H

. (i) C,H;MgB
Y——2"2= ,CH;CH,C(CH;),OH

i) H;0

Options :

CH, — CH — MgBr C,H.COCH,
. CH;

X ¥

CH; — CH, — MgBr CH,CH,CHO

CH,CH,CH, MgBr CH; —CO—CH;
3 e

(CH;)C MgBr CH; —-CO-CH,

Question Number : 160 Question Id : 1017174640 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What are X and Y in the following reactions?
8od S6gees* X, Y o0 I0?

I\‘-H]
I
NHCOCH 3
Brj I'CHE COOH 5 X

Options :

NH 5 NHCOCH 3

Br Br
1
NH, NHCOCH;
Br Br Br Br
Br Br
NH 7 NHCOCH 3
Br Br

Br



%

NH;
Br .Br

Br

NHCOCH;
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